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A.RELD.11: Absolute Value Inequalities 2

1 Which graph represents the solution set of 4 Which graph represents the solution set of
x+1] <2? |Sx — 15| < 10?
H 32-10]1 ~ N, |
w_, 1) -5-4-3-2-1 01 2345
2 32-101 ~ R 4t

2) 5-4-32-1012345
» 3240 s ..
) 5432-1012345

3-2-1 0 | ...
Y 4y 5432-1012345

2 Which is the graph of the solution set of

2x =3[ <7? 5 Which is the graph of the solution set of
2x 3] <7?
Gr——
)  -6-5-432-10123456 1) =6-54-32-10123456
2) -65-4-3-2-1 0123456 2) <65432-1 0123456
3) -6-5-4-3-2-1 0123456 3) ©5432-10123456
—t——— ...
4y "6754-32-10123456
4) -6-5-4.3-2-] 01 23456
) ) 6 Which graph represents the solution set of
3 Which graph represents the solution set of 6x—7] < 5?
2x—1] <7? - ———— >
— 1
) 54321012345 1) L
N e R ——— |
2) 54321012 345 2) 1 Oé 1 2
g < p——_— >
3) 54-3-2-1012 345 2 110 1
| ————— | . 3) 3
4) 5—4-3-2-1012 345 "H-H'Qlllifilli:ii}i}i’
4) 2 1 ,30 1
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7 Which graph represents the solution set for the 10 Which graph is the solution to the inequality

inequality |2x + 3| > 7? 412x+ 6] -5 <27?
—— O : o

1 _5 0o 2 1) -y S s T
— —— ) T o 7 5 5 a1 38 5

2) -5 0 2 o -
B g Clum- 3) 9 7 5 3 -1 1 3 5

3) 2 0 5 < - s
H’ 4) <9 -7 -5-3-11 3 5

4) 2 0 5

11 Which graph represents the solution set of

8 Which graph represents the solution set of 4x —5
2x+1] > 7? — |>1?
4.232‘10 1 2;’-:1.b 1) TS T 2 s i
D - Om— >
o ———— 2) 5-4-3-2-101 23 45
2) -4-3-2-101234 <
i T i L L 3) _5 _4 _3 _2 _1 0 1 2 3 4
e . ——————— Omm—— s
3) -4-3-2-101 234 4y 5-4-3-2-1012 3 45

4 -4-32-101234

12 The solution set of which inequality is represented
by the accompanying graph?
9 What is the graph of the solution set of

2x—1] > 57 ——— e
1 -€ =2 - -109-8-765432-101234567891
- —
2) 2 0 3 ) |x=2/>7
3) -€ ' 5 2 > 2) |x-2|<7
———O—————— > 3) |2_x| > -7
4) -3 0 3 4) 2-x] <=7
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13

14

15

Which inequality is represented by the
accompanying graph?

-76-3-101 3 5 7

) k+2]>5
2) |x+3]=2
3) k-1/<5
4) |x-5/=2

Which inequality is represented by the
accompanying graph?

A —
2101 2
1 |x|>1
2) |x|=1
3) [xI<1
4) x| <1

Solve the inequality —3|6 —x| < —15 for x. Graph
the solution on the line below.

16 Determine the solution of the inequality
|3 —2x| 2 7. [The use of the grid below is
optional.]
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A.RELD.11: Absolute Value Inequalities 2

ANS: 1 REF: 068622sii1
ANS: 2 REF: 088431siii
ANS: 1
2x-1<7 2x=1>-7
and
x<4 x>-3

REF: 080303b

ANS: 4 REF: 089030siii
ANS: 4 REF: 018727siii
ANS: 1

6x-7<5 6x-7=-5
6x <12 6x =2

x<2

L»)|>—A

X2

REF: fall0905a2
ANS: 2
2x+3>7 2x+3< -7

or
x72 x< =5
REF: 060505b
ANS: 1 REF: 089318siii

ANS: 1
2x—1>5. 2x—1<-5

2x>6 2x >4
x>3 x <=2
REF: 061307a2

ANS: 2
42x+6| <32 2x+6<8 2x+6> -8

[2x + 6] < 8 2x <2 2x >-14

x<1 x>-7

REF: 011612a2
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ANS: 3
4x3—5 1or 4x3—5 1
4x—-5>73 4x-5<-3
4x > 8 4x <2
x>2 x<l
2

REF: 061209a2
ANS: 1
x=2>7 x-2<-7
or
x> x<-5

REF: 060617b
ANS: 2
x+322

or
xz-1

x+34-2
x <=5
REF: 060707b
ANS: 1
| > 1
x>1or x<-1

REF: 080806b
ANS:

1\

=316 —x| <-15
6—x| >5
6—x>50r6—x<-5

1>xorll <x

REF: 061137a2

ANS:
3-2x2>7 or3—-2x<-7
2x >4 —2x <-10
x<-=2 x=>5

REF: 011334a2
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